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Unit 6 Review Period ____ Name K—&)’

Complete with always, sometimes, or never.

1. A square is alida /}/ 5 a rectangle.

2. The diagonals of a rectangle are _ { W a}}/ S congruent.

3. A rhombus _X [wWe Y5 has consecutive congruent sides.
4, The diagonals of a rhombus _& [WA/J/-/" bisect each other,
5. The diagonals of a square are &J[M/Ull}’f perpendicular.

Complete each of the following statements.

6. AL @ Uale_is both a rhombus and a rectangle.
7. The cL! a90nNa /,5 of a rhombus are perpendicular.
8. The Y12/ [e.”) of atrapezoid is parallel to the bases and has a length equal to half

the sum of the lengths of the bases.

9. A /’\OVV- LS isa quadrilateral with four congruent sides.

Study the markings (or Numbers) on each figure and decide whether ABCD must be a
parallelogram. Explain your reasoning.
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Write an equation and solve for each value in each of the following parallelograms.
Explain your reasoning.
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Write an equation and solve for each value in each of the following trapezoids.
The median is dr'awn cs a dashed line. Explain your reasoning.

St35=]g0
20. [§0 x=_JO because CMNSEC, A,g afe Sufpf
(x+5)°7y :;-;10?0 ] ) JJO’[Q +EC 1695 ot “—"!‘ﬁ&p-&z_mcl
----------- L(s s
o _2—_ ecause He ﬁecfcm )
T W-i‘r A Verauebe, of the b a-fsej M’#}”S the.
X zo because ‘H\Q meélf“n bljﬁ‘-‘-—‘i'j

Ife leo,

y =5 because CWUQ.C.K’hVQ. ._c.\j afe.
's upp._ale ﬂ/ g the legs of o frapezoid




